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(define (fixed-make r d)
(1ist r (quotient d 10)
(remainder d 10)))

(define (fixed-make r d)

(cons r d))

(define a (fixed-make 4 14))
(define b (fixed-make -7 0))
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make-vect2-pair : fized X fized — pair(fized, fized)
nth-vect2-pair : pair(fized, fived) X int — fived
equal-vect2-pair : pair(fized, fized) X pair(fized, fixed) — bool

add-vect2-pair : pair(fived, fized) x pair(fized, fized) — pair(fized, fized)

( )

( )

scale-vect2-pair : pair(fized, fived) X fixed — pair(fized, fixzed)

dot-product-vect2-pair : pair(fized, fized) X pair(fized, fixed) — fixed
( )

is-vect2-pair? : pair(fized, fized) — bool

(define x (fixed-make 5 34))
(define y (fixed-make -4 23))
(define z (fixed-make 2 42))
(define pl (make-vect2-pair x y))
(define p2 (make-vect2-pair y z))

(fixed-display (nth-vect2-pair pl 0))

5.34

(fixed-display (nth-vect2-pair p2 1))

2.42

(equal-vect2-pair pl p2)

#£

(equal-vect2-pair pl pl)

#t

(define p3 (scale-vect2-pair (add-vect2-pair pl p2) z))
(fixed-display (dot-product-vect2-pair pl p3))
32.62

(is-vect2-pair? x)

#£

(is-vect2-pair? p3)

#t
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make-vect
nth-vect
equal-vect
add-vect
scale-vect
dot-product-vect

is-vect?

fized list — vect
vect X int — fired
vect X vect — bool
vect X vect — vect
vect X fixed — vect
vect X vect — fixed

vect — bool

(define vl (make-vect (list x y z x)))

(define v2 (make-vect (list x y x 2)))

(fixed-display (nth-vect vl 2))

2.42

(fixed-display (nth-vect v2 3))

2.42

(equal-vect vl v2)

#£

(equal-vect vl v1)

#t

(define v3 (scale-vect (add-vect vl v2) z))
(fixed-display (dot-product-vect vl v3))
352.50

(is-vect? x)

#£

(is-vect? v3)

#t



